


(TBT) 0.0046pg/L(TBTO
( 10 )
(TPT) 0.0064ug/L(
( 10 )
p,p’-DDE 0.084pug/L ( 3 )
p,p’-DDD 0.066 pg/L ( 3 )

0.1mg/L
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Grubbs

(Hg/L)

(Hg/L)

(Hg/L)

0.00111

0.00883

0.00497

0.00304

0.0103

0.00666

TBTO




S.D. CV %
(

(po/L) | (po/L) (po/L) | (Mo/L) | (Mg/L) | (Mg/L)
54 1 0.00525 | 0.00190 | 36.2 | 0.00305|0.0129 | 0.00489
52 | 0.00497 | 0.00123 [ 24.7 | 0.00305 [ 0.00861 | 0.00482 | 0.0046
56 | 0.00867 | 0.0106 | 122 0.00347 | 0.0828 | 0.00659
52 | 0.00666 | 0.00115 | 17.3 (0.00347 | 0.0101 | 0.00656 | 0.0064

* ND

*% -

TBTO




N

80
70
60
50
40
30
20
10

10 20 235
15

0.00497 ig/L

) -

80
70
60
50
40
30
20
10

0.0 1.0 20
05 15

1
0.00666j9/L

2.35




( )
Grubbs
-GC/MS 24
-GC/MS 31
0 -
55 0
Grubbs
-GC/MS 25 0
-GC/MS 32 0
0
57 0




A~

)

TBT TPT TBT TPT
ND ND 0.9 1.0
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(pg/L) | S.D.(pg/L) CV %
-GC/MS 22 | 0.00517 | 0.00159 30.8
-GC/MS 30 | 0.00482 | 0.000871 18.1
0 - - -
2
(mg/L) | S.D.(Ha/L) CV %
- -GC/MS 22 [ 0.00669 | 0.00114 17.0
-GC/MS 30 | 0.00664 |0.00118 17.7
0 - - -




(pag/L) | S.D.(g/L) CV %
1. 0 - - -
2. 10 0.00530 | 0.00184 34.7
3. 0 - - .
4. 42 0.00489 | 0.00105 21.4
4
(Hg/L) .D.(Mg/L) CV %
1. 0 - -
2. 10 0.00660 .000908 13.8
3. 0 - -
4. 42 0.00667 .00121 18.1




(pM9/L) | S.D.(pg/L) CV %
48 0.00484 | 0.00116 24 .0
4 0.00646 | 0.00111 17.2
(mg/L) | S.D.(pg/L) CV %
48 0.00655 | 0.00106 16.2
4 0.00804 | 0.00145 18.0




(mg/L) | S.D.(mag/L) CV %

1. 70 5 0.00531 | 0.000895 16.8
2. 70 80 11 0.00445 | 0.000615 13.8
3. 80 90 15 0.00531 | 0.00170 32.0
4. 90 100 8 0.00453 | 0.000544 12.0
5. 100 110 3 0.00492 | 0.00112 22.7
6. 110 120 4 0.00475 | 0.000664 14.0
7. 120 0 - - -




(g/L) S.D.(pg/L) CV %

1. 70 0 - - -

2. 70 80 2 0.00787 | - -

3. 80 90 10 0.00670 | 0.000615 9.2
4. 90 100 11 0.00669 | 0.00156 23.3
5. 100 110 12 0.00632 | 0.000711 11.2
6. 110 120 0.00604 | 0.000467 7.7
7. 120 0.00682 | 0.00119 17.5

3 6

3 4 4 5 4 6




cv( )
(Lg/L) ( ) (pg/L) *
63 87 403 36.9 100.8 -
95 259 43.3 81.9 0.003
11 99 0.103 29.5 86.0 0.01
12 [17ax- 27 0.0276 48.1 92.0 0.0001
12 |1783- 28 0.0223 40.8 89.2 0.0001
12 24 0.0372 42.3 93.0 0.0001
19 49 0.0696 21.8 100.9 0.001 *
20 52 0.00497 24.7 108.0 0.01 =
0.0003 *
19 50 0.0949 21.5 99.8 0.001 *
20 42 0.00666 17.3 104.1 0.01 =
0.0002 *
¢ >
~GC/MS ~GC/FPD
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- 30
- 50ml —|
|
|
|
|
5ml
|
<« 2
|
Iml

(p.,p~ -

-'3C 12)






Grubbs

p,p*-DDE

51

3

5.9( 5.9]

p,p*-D00

51

2

3.9( 3.9)

X

Grubbs




Grubbs

(bg/L) | (Mo/L) | (g/L)
p,p"-DDE 0.0472 0.104 0.0756
p,p"-DDD 0.0287 0.0963 0.0625




S.D. |V
(
(Mo/L) | (Mo/L) (MY/L) | (MO/L) | (ML) | (Mo/L)
0,000 | [5010.0763 |0.0047 | 19.3]0.0243 [0.132 |0.0763
g 480.0756 [0.00910 | 12.0 |0.0495 |0.0943 |0.0761 |0.084
0,"-00 | |51]0.0629 |0.0150 | 23.80.0225 |0.125 |0.0618
) 490.0625 [0.0109 | 17.310.0335 |0.0953 |0.0618 |0.066
(. ND
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( /DDD) = AreaDDE/AreaDDD>=<Co|E P,P"-DDD
) ncDDD/ConcDDE P,P*-DDD 1
/2
MS 2
15 0.7 <
Ratio(DDE/DDD) < 1.5
( 0.97) P,P*-DD
4 D
P, acetone
p"-DDD 2/100
acetone P,
P*-DDD 80-90%
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1
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DB5(MS)
0.25mm x 30m (0.25um)
50 (2min)-20 /min -
120 (Omin)-7 /min-310 (5min)
1.0 mL/min
1 uL splitless 250




Abundance

ST

Time (min.)
A PAG OO0 (23470 —— 23AG 7O S0sepl 1.0

pp'-DDD

)

DDE DDD

<GC

>
DB5(MS)
0.25mm x 30m (0.25 um)
60 (1min) -
10 /min-300 (5min)
1.2 mL/min
2 uL splitless
260




ERF7
ID#:2 m/z:1B8.20
FATISTD
(bt 7=t bv-d10
(R HFEEM:14.011
# BE-100.00000ppb

83,581

e

kn_r 188#1.00

14.0 14.5
ERYT7
g}ﬁ; #mf;rl,'.EFlEJ]D
{L &40 % 0. p'-DDE ¢ miz W WS
{2 %M 18,032 1 316.00 6729 79.60
#®HF-29.86292ppb 2 246.00 15523 183.62
16,947 B

<GC >
DB5(MS)
0.25mm x 30m (0.10um)
50 (2min)-10 /min -

200 (Omin)- 20 /min- 320 (3min)
120 kPa
2 UL splitless
270

318200
73164100

. 246%1,00

18.2







p,p°-

(pg/L) | S.D.(Mg/L) CV %
-GC/MS 48 | 0.0756 0.0091 12.0
-GC/MS 0 |- - -
0 - - -
p,p”-
(pg/L) [ S.D.(ug/L) CV %
1. -GC/NS 48 10.0625 |0.0109 17.5
2. -GC/NS 1 {0.0648 |- -
e 0 |- - -




P,p"-

(g/l) S.D.(ag/L) CV %
1. 4 0.0707 0.0105 14.9
2. 0 - - -
3. 0 - - -
4. 41 0.0761 0.00923 12.1
p,p°-
(pg/L) | S.D.(pg/L) CV %
1. 4 0.0544 0.00898 16.5
2. 0 - - -
3. 0 - - -
4. 43 0.0631 0.0110 17.5




p.p"-

(mg/L) | S.D.(pMg/L) CV %
27 0.0744 0.00632 8.5
20 0.0766 0.0118 15.4
1 2
p,p"-
(pg/L) | S.D.(pg/L) CV %

1. 27 0.0617 0.00923 15.0
2. 22 0.0635 0.0127 20.0




p’p'_

(Lug/L) | S.D.(pg/L) | CV %
1. 70 0 |- - -
2. 70 80 2 |0.0717 |- -
3. 80 90 9 |0.0724 |0.00743 10.3
4. 90 100 5 | 0.0767 | 0.00497 6.5
5. 100 110 9 |0.0776 | 0.00527 6.8
6. 110 120 2 10.0756 |- -
7. 120 1 ]0.0671 |- -




P,P -

(mg/L) | S.D.(ag/L) CV %

1. 70 0 |- - -

2. 70 80 3 10.0587 |0.00616 10.5
3. 80 90 7 10.0633 |0.0159 25. 1
4. 90 100 3 |0.0640 | 0.00209 3.3
5. 100 110 10 |0.0619 |0.00471 7.6
6. 110 120 3 |0.0634 |0.00609 9.6
7. 120 1 |0.0450 |- -

3 4 3 5




pPp-

H19( 41) |H20( 51)
g/l 0.18 0.084
3
96. 1 90.0  *
Vo |17.5 12.0 *
p p°-
H19( 41) |H20( 51)
g/l 0.12 0.066
1 2
98.3 04.7  *
Vo |17.7 17.3  *




